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[ Action (idl), Max = 5.55544e+06, End Val.= 5.55544e+06 ]
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|_Shot #: 2571, Param Tree: 72 _
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E_IDL, éircular, [0.06000, 0.0000d]
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- IDL, Shaped [Displaced], [0.00000, 0.00000]
—DCPS, Shaped [Displaced], [0.0000000, 0.0000000]
E Shot #: 2571, Param Tree: 72
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Shot #: 2571, Param Tree: 72
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E Condjtioned Data (DCPS), Limits: [-1.5000000, 19.000Q00]
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[ Action (idl), Max = 37.2583, End Val.= 37.2583
- Full Action (idl), Limit = 1990.00, Max.=37.5491, End Val. 37.2583
| Shot #: 2571, Param Tree: 72
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- DCPS, Circular, [-0.014071297, 2.5375043]
E IDL, Shaped [Displaced], [-0.0135751, 3.22966]
—DCPS, Shaped [Displaced], [-0.013575051, 3.2296603]
EShot #. 2571, Param Tree: 72
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Faults (L1): [-17.6348, -10.0000]
- Faults (NC): [2.2604801, 3.4592767]
EFaults (PS): [2.2604801, 3.4592767]
Faults (PC): [2.2604801, 3.4592767]

Shot #: 2571, Param Tree: 72
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- Action (idl), Max = 1.40955, End Val.= 1.40955
:_Full Action (idl), Limit = 356.000, Max.=1.41502, End Val. 1.40956
Shot #; 2571, Param Tree: 72
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DCPS, Circular, [-0.56267338, 0.98306554]
IDL, Shaped [Displaced], [-0.562673, 0.983066]

DCPS, Shaped [Displaced], [-0.56267338, 0.98306554]
Shot #: 2571, Param Tree: 72
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Shot #: 2571, Param Tree: 72
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-4 -2 0 2 4 6
time
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- Full Action (idl), Limit = 1100.00, Max.=5.67129, End Val. 5.61034
- Shot #: 2571, Param Tree: 72
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- IDL, Shaped [Displaced], [-0.780636, 2.30031]
—DCPS, Shaped [Displaced], [-0.78063588, 2.3003151]
EShot #. 2571, Param Tree: 72
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Shot #: 2571, Param Tree: 72
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"Action (idl), Max = 53.5879, End Val.= 53.5879
[ Full Action (idl), Limit = 1240.00, Max.=54.0279, End Val. 53.5879
L Shot #: 2571, Param Tree: 72
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E IDL, Shaped [Displaced], [-0.0129820, 6.47487]
—DCPS, Shaped [Displaced], [-0.012982013, 6.4748657]
F Shot #: 2571, Param Tree: 72
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- Auctioneered Data (idl) =
F Condjtioned Data (DCPS), Limits: [-16.000000, 12.000Q00] 3
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- Full Action (DCPS), Limit = 1410.0000, Max.=153.10637, End Val. 147.56536-
" Action (idl), Max = 147.563, End Val.= 147.563 ]
Full Action (idl), Limit = 1410.00, Max.=153.104, End Val. 147.563 -
C Shot #: 2571, Param Tree: 72 7
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- Faults (NC): [0.10108314, 3.6632790]

EFaults (PS): [0.10108314, 3.6632790]
Faults (PC): [0.10108314, 3.6632790]
i : 930, 0.00774548]

Shot #: 2571, Param Tree: 72
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C Action (idl), Max = 187.296, End Val.= 187.296
:—Full Action (idl), Limit = 1410.00, Max.=189.956, End Val. 187.296
C Shot #: 2571, Param Tree: 72
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E_IDL, éircular, [-8.018930, 0.007714548]

DCPS, Circular, [-8.0893019, 0.0077454795]
IDL, Shaped [Displaced], [-8.08930, 0.00774548]

DCPS, Shaped [Displaced], [-8.0893019, 0.0077454795]
Shot #: 2571, Param Tree: 72
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- Conditioned Data Range: [-16.1892, 0.0137667]

:_Shot #: 2571, Param Tree: 72
- Overcurrent Trip(DCPS) A
- Auctioneered Data (idl) B
- Condijtioned Data (DCPS), Limits: [-24.000000, 1.5000000] =~ =
-4 -2 0 2 4 6
time
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Full Action (DCPS), Limit = 6390.0000, Max.=795.48328, End Val. 749.631683
Action (idl), Max = 749.627, End Val.= 749.627

Full Action (idl), Limit = 6390.00, Max.=795.479, End Val. 749.627

Shot #; 2571, Param Tree: 72
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E_IDL, éircular, [-12.13437, 0.0169IAfl3]

- DCPS, Circular, [-12.343717, 0.016941256]
E IDL, Shaped [Displaced], [-13.0920, 0.0157283]
—DCPS, Shaped [Displaced], [-13.092049, 0.015728344]
E Shot #: 2571, Param Tree: 72
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Shot #: 2571, Param Tree: 72

= Overcurrent Trip (DCPS)
- Auctioneered Data (idl)

F Canditioned Data (DCPS), Limits: [-24.000000Q, 1.5000000] _ _ _ _ _
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Full Action (DCPS), Limit = 6390.0000, Max.=795.48328, End Val. 749.631683
Action (idl), Max = 749.627, End Val.= 749.627

Full Action (idl), Limit = 6390.00, Max.=795.479, End Val. 749.627

Shot #; 2571, Param Tree: 72
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E_IDL, éircular, [-12.13437, 0.0169IAfl3]

- DCPS, Circular, [-12.343717, 0.016941256]
E IDL, Shaped [Displaced], [-13.0920, 0.0157283]
—DCPS, Shaped [Displaced], [-13.092049, 0.015728344]
E Shot #: 2571, Param Tree: 72
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- Faults (NC): [0.10108314, 3.6632790]

EFaults (PS): [0.10108314, 3.6632790]
Faults (PC): [0.10108314, 3.6632790]
i : 930, 0.00774548]

Shot #: 2571, Param Tree: 72
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C Action (idl), Max = 187.296, End Val.= 187.296
:—Full Action (idl), Limit = 1410.00, Max.=189.956, End Val. 187.296
C Shot #: 2571, Param Tree: 72
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E_IDL, éircular, [-8.018930, 0.007714548]

DCPS, Circular, [-8.0893019, 0.0077454795]
IDL, Shaped [Displaced], [-8.08930, 0.00774548]

DCPS, Shaped [Displaced], [-8.0893019, 0.0077454795]
Shot #: 2571, Param Tree: 72

lllllllllllllllllll 111 lllllllllllllllllllllll

A
N
o
N
N
o



Action

PF3L Current [kA]

N
o

]lllllllllllllll lllllllllll

)
(=

1400
1200
1000
800
600
400
200

= N
o o

o

PF3L [Post Disruption]

llllllllllll

Shot #: 2571, Param Tree: 72

lllllllllll

- Overcurrent Trip (DCPS) . _ _ _ _ _ _ _ _ _ _ _ ___ _ __ __ E
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- Full Action (DCPS), Limit = 1410.0000, Max.=152.72777, End Val. 147.78553
- Action (idl), Max = 147.789, End Val.= 147.789 ]
Full Action (idl), Limit = 1410.00, Max.=152.731, End Val. 147.789 -
C Shot #: 2571, Param Tree: 72 7
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Shot #: 2571, Param Tree: 72
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Eandlitiqne(_JI Data (DCPS), Limits: [-1.5000000, 15.000Q00] =
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time

"Action (idl), Max = 55.0017, End Val.= 55.0017
[ Full Action (idl), Limit = 1240.00, Max.=55.5290, End Val. 55.0017
L Shot #: 2571, Param Tree: 72
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E_IDL, éircular, [-0.01134465, 6.041706]

= DCPS, Circular, [-0.013446505, 6.0470627]
E IDL, Shaped [Displaced], [-0.0135954, 6.52572]
—DCPS, Shaped [Displaced], [-0.013595425, 6.5257221]
F Shot #: 2571, Param Tree: 72
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Shot #: 2571, Param Tree: 72
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[~ Action (idl), Max = 5.31841, End Val.= 5.31841
- Full Action (idl), Limit = 1100.00, Max.=5.37803, End Val. 5.31842
- Shot #: 2571, Param Tree: 72
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E_IDL, éircular, [-1.116934, 1.91695]

- DCPS, Circular, [-1.1693371, 1.9169947]
- IDL, Shaped [Displaced], [-0.839337, 2.24714]
—DCPS, Shaped [Displaced], [-0.83933734, 2.2471435]
EShot #. 2571, Param Tree: 72
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Shot #: 2571, Param Tree: 72

= Overcurrent Trip (DCPS)
F Auctioneered Data (idl)

Eandlitiqne(_JI Data (DCPS), Limits: [-1.5000000, 1.5000Q00] =
-4 -2 0 2 4 6
time

- Action (idl), Max = 1.32899, End Val.= 1.32899
:_Full Action (idl), Limit = 356.000, Max.=1.33418, End Val. 1.32899
Shot #; 2571, Param Tree: 72
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- DCPS, Circular, [-0.58727398, 0.95236133]
E IDL, Shaped [Displaced], [-0.587274, 0.952361]
—DCPS, Shaped [Displaced], [-0.58727398, 0.95236133]
E Shot #: 2571, Param Tree: 72
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= Overcurrent Trip (DCPS)

Shot #: 2571, Param Tree: 72 ;
= Auctioneered Data (idl) _;

Eandlitiqne(_JI Data (DCPS), Limits: [-0.75000000, 19.00Q000]
-4 -2 0 2 4 6
time

[ Action (idl), Max = 37.2270, End Val.= 37.2270
- Full Action (idl), Limit = 1990.00, Max.=37.5162, End Val. 37.2270
| Shot #: 2571, Param Tree: 72
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E_IDL, éircular, [-0.0b783209, 2.512767]

- DCPS, Circular, [-0.0078320854, 2.5276733]
E IDL, Shaped [Displaced], [-0.00702344, 3.21992]
—DCPS, Shaped [Displaced], [-0.0070234372, 3.2199158]
EShot #:. 2571, Param Tree: 72
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Shot #: 2571, Param Tree: 72
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- Auctioneered Data (idl)

F Canditioned Data (DCPS), Limits: [-24.000000Q, 24.000000] _ _ _ _ _
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time

T

—Action (idl), Max = 197.079, End Val.= 197.079
| Full Action (idl), Limit = 848.000, Max.=198.094, End Val. 197.079
- Shot #: 2571, Param Tree: 72
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E_IDL, éircular, [-0.0b827750, 17.519918]
- DCPS, Circular, [-0.0082774974 17.991792]
E IDL, Shaped [Displaced], [-0.0@{6259, 17.9917]
—DCPS, Shaped [Displaced], [{.8Q&625940, 17.991703]
E Shot #: 2571, Param Tree: 72
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__Full Action (DCPS), Limit = 119000.00, Max.=42110.957, End Val. 39727.2247
_ Action (idl), Max = 39729.7, End Val.= 39729.7 i
[ Full Action (idl), Limit = 119000., Max.=42113.5, End Val. 39729.7 ]
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